Mathematics 11UC

3.3 — Solving Quadratic Equations

Mr. D. Hagen






The population of an Ontario city is modelled by the function P(z) = 0.5#* + 10z + 300,
where °(¢) is the population in thousands and #is the time in years. Note: + = 0 corresponds to

the vear 2000. .
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a) What was the population in 20002 -
— o =(o0
b) What will the population be in 20102 — £ = 20\ 0 MO

¢) When is the population expected to be 10500002 | > 70
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The function A(#) = 2 + 50¢ — 1.862¢°, where /(#) is the height in metres

and # is time in seconds, models the height of a golf ball above the planet

Mercury's surface during its flight. - 274 ). 66"

a) What is the maximum height reached by the ball? -~ . S ¢ (@ 5a .mwé)f

b) How long will the ball be above the surface ot Mercury?
¢) When will it reach a height of 200 m on the way down? — DA SeconIs

()\3 I:nﬂ) Zéf’fr?Sj NN\ SE ST %”[w’/w/ Mgm Lz
Jr’Lu/ Vilue  &F vousr X,
Zcs ov:  — (), 0377 mﬁ)@ém&%’l

__—

l/\ . _':0-03‘77 + 6. s \’S L/g
b -



